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QUESTION 1

Which node can be used to impute (estimate) missing values?
A. Data Audit node

B. Balance node

C. Filler node

D. Reclassify node

Correct Answer: A

QUESTION 2

Only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic.
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A. True

B. False

Correct Answer: A
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QUESTION 3
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In the stream below, the CHAID node and Neural Net node can be combined in a single Super node.
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falco ¥ modeling dat. Filler

A. True
B. False

Correct Answer: B

QUESTION 4

An online retailer wants to identile groups of customers based on components of their buying behavior, such as types

> =T

Data Known

=l

A

Type

churn

of products purchased, volume of purchases, and frequency of purchases.

What type of model would be used?

A. Association model
B. Segmentation model
C. Classification model
D. Sequence model

Correct Answer: B

QUESTION 5

Auto checking for invalid values can be done on the Type tab in any Source node.

A. True
B. False

Correct Answer: A
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